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1. BRAREIE:
TC(uglg FE)=(C FRfExV2) xMrx(A MFE-A 25 15)(A F7R-A E)(WxVI=V) xD
=1998.7x(A JUTE-A 25 )+(A FFAE-A Z[3) “WxD
2. BRSBTS
TC(ug/104 cell)=(C AFAEXV2) x(A WE-A % E)+(A FRfE-A 22 ()=(500xV1=V) xD
—4x(A UTE-A 2= E)(A F7AE-A ZE) <D
3. kR TC & B E:
TC(ug/mL)=(C FRAEXV2) xMrx(A JUZE-A 25 19)+(A FFA-A ) VI*D
=1998.7x(A JFE-A ZE)+(A FifE-A Z(9)xD
TC(mmol/L)=(C AFAExV2)x(A MZE-A % E)-(A FfE-A ZE)=VIxD
=5.17x(A UFE-A ZE)+(A FRfE-A Z5F) xD

C $rAE---5.17mmol/L; Mr=386.6---fEEEE > T = ;
VI---FAIINGAEFR, 0.007mL; V2R BIMAGEFR, 0.007mL;
V-1 BURAATR, 1mL; D---HREEE, KWBERIA 1,
500---4HpEEE, 7, W---EABERE, 2.
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